CEDOMATEC GARAGE DOOR MAINTENANCE GUIDE
TO VALIDATE THE LIMITED OWNERSHIP WARRANTY *
- OF YOURHOME

CEDOMATEC)

Congratulations. You are now the owner of one of the numerous quality garage doors manufactured by
CEDOMATEC INC. The CEDOMATEC products are high quality prodiicts. The following maintenance tips will
help extending the life span of your door and its mechanism. You.may also eontact an authorized CEDOMATEC
dealer for an annual inspection, or if adjustments or repairs become necessary. For optimal performance, WE
RECOMMEND the following maintenance tips:

THE DOOR ‘

Wash your CEDOMATEC garage door with a mild soap, such as liquid dish soap, using a clean rag or glove used to
wash cars, Rinse. Never use an abrasive or strong liquid detergent. To protect your door against UV radiation and
pollutants and to restore shine, apply liquid car wax once a year.

OUTSIDE WEATHERSTRIPS (on door frame and door bottom)

Since weatherstrips are made of rubber and P.V.C, they should be cleaned with an all-purpose vinyl soap, then rinsed
thoroughly. Weatherstrips should be lubricated THREE TIMES a year, or more depending on operation frequency,
with a silicone-based lubricant. Petroleum-base oils and lubricants are INADVISABLE, since petroleum products

will harden rubber. Weatherstrips must remain soft and flexible to be fully efficient.

TRACKS, HINGES, PULLEYS, STEEL ROLLERS AND SPRINGS '
All tracks, hinges, pulleys and steel rollers should be lubricated with a silicone-base lubricant, available at your hardware

dealer. Please wipe off any excess of lubricant. For torsion springs (one or two springs on a bar above the door), a
semi-liquid grease should be applied. WD-40 and similar products are not recommended, since they will lubricate but

might also remove the grease from the springs.

N.B.: A garage door should never feel heavy to lift (more than 10 Ib. or 4.5 kg). If this occurs, you should contact
your CEDOMATEC dealer. If you own an electric door opener, the door arm should be disconnected and manually
activated at least TWICE A YEAR in order to verify if the door is properly balanced. The electric door opener should

.

always operate smoothly.

IMPORTANT NOTICE: If your installation has extension springs (one spring along each side of the horizontal
tracks), make sure security cables are installed (a restraining steel cable within the extension spring). If not, we
strongly recommend that you contact your CEDOMATEC dealer to install steel cables that will retain the springs
should they break. All CEDOMATEC extension springs hardware comes with cables for our customers’ safety.

ELECTRIC DOOR OPENER
Refer to manufacturer's maintenance guide.

CAUTION
If your garage door ever requires adjustment or needs to be fixed, do not attempt a repair on your own, especially if the

problem seems to arise from the springs. Extension and torsion springs are tightly wound up and may cause serious
injuries. Please calla CEDOMATEC qualified installer.

* Please refer to details on Cedomatec residential warranty. Ask your dealer for your copy.
DEALER:

THANKS FOR CHOOSING A
CEDOMATEC GARAGE DOOR!

ANNUAL MAINTENANCE
PROGRAM AVAILABLE AT YOUR
DEALER.

Cedomatec Inc., 605 Iberville, Repentigny (Quebec), Canada, J6A 5HY, e-mail : j
Tel : (450) 585-4224, 1-800-363-CEDO (2336), fax : (450) 585-1166

Web site : www.cedomatec.com




CEDOMATEG CEDOMATEG

CEDOMATEG

CEDOMATEG

-STANDARD

INSTALLATION MANUAL FUOR
ALL CEDUOMATEC DOORS

[T
[Tl (IR Ty TCCFECERTEEFEFCETELE TRIITIEE
[T ITH

EXTENSION

HEADROOM
EXTENSION

e

LOW HEADROOM
REAR TORSION

Cedomatec Inc. 1970472002 SL Pagel.dwg

CEDOMATEG CEDOMATEC

CEDOMATEG

CEDOMATEC



CEDOMATEC

CEDOMATEG

CEDOMATEG

ASSEMBLY INSTRU

Note: Before starting the assembly, have

IUN |
look at the option sheet

_CEDOMATEC

A TOP D
PREPARATION OF BOTTOM PANEL PREPARATION OF OTHER PANEL
INNER REFER TO “A” CHART TO KNOW
SIDE OF 18° O THE QUANTITY OF HALF HINGES
BOTTOM iy AND THERE POSITION
PANEL SCREW #3 (2ec.)
SCREW #1 (@x2)
BOTTOM
SIDE HINGES BOTH
VIEW OF END AT THE
THE BOTTOM OF
PANEL ) PANEL AND
RUBBER\ ROLLERS —— 1/8" FROM
FIX ON BOTH SIDE AT 4* BOTH END THE SIDE
% FROM THE END AND IN LINE
WITH EACH HINGE. REFER TO
CHART ““A” FOR LOCATION!
RETAINER AND QUANTITY
iR HINGES POSITIONNING ON THE PANEL
INNER SIDERX
OF BOTTOM A"
PANEL \L\ W : w )
S | S |
CABLE h 1 :L_t -
NSIDE LIFT HANDLE CPolyuret )
TM’Y"S_P'N INSIDE VIEW
11 [l 11
‘-\.
& (3ISCREW #1 | o corenes ON 5OTH —— CENTER e/r PANEL
AT THE CENTER OF PANEL _—
2
P
CUTIER PN | 0y HEAD ROOM BRACKET 3 1
CHART ""A’
L se\gee Quantity Quantity of
INNER SIDE WIDTH: ‘W y G
OF BOTTOM FROM T0 of hinges [space “S"
PANEL 48" 08" ] 2
09" L4 *L 3
45" 92° 5 L
935" 40" *6 5
241" 288" 7 6
*|F THE QUANTITY OF HINGES ARE EVEN, DON'T INSTALL THE
CENTER ONE.
WIDTH_OF DOOR Ex: 120" DOOR, SEE CHART "A".
12'-0" (3.66m) '
AND MORE WE'LL HAVE 4 HINGES, MEANS 3 SPACES
WASHER #9 AND W=120/3 SPACES *S" =40.
CUTTER PIN #12
STANDARD BOTTOM BRACKET E

HALF HINGE INSTALLATION

! @'n

PUT SCREWS AT TOP
OF SLOTS IN HINGES

UPWARD

WIDEST PART
GOES DOWN

IMPORTANT
INSERT ROLLERS

C IN THE BOTTOM CYLINDER

INSTALL STRUT ON TOP OF HALF HINGES AND FASTEN
IT DIRECTLY WITH #4 SCREWS STARTING FROM LEFT
TQ RIGHT, ONE EACH END AND IN LINE WITH HINGES

NOTE: Strut are recommended on doors above 12° 1°. F_

Cedomatec Inc.

22/04/2002 SL Pagec2.dwg

CEDOMATEC CEDOMATEG

CEDOMATEC

CEDOMATEG



\

GEDOMATEC GEDOMATEC

GEDOMATEG

CEDOMATEG

<R |=—1/4" ANGLE
- PER 8' HEIGHT

2% WOODEN FRAME —
4" MINIMUM

AY—BOLT #2

="/——FASTEN TOP PANEL TEMPORARELY
WITH VISE-GRIP

#3 BOTH SIDE
VERTICAL TRACK

KEEP THE ROLLERS INSIDE
THIS TRACK

IF BAR LOCK OPTION
INSTALL THE PANEL IN
Q|| 2nd PLACE

T

#2 BOTH SIDE

#1 BOTH SIDE

Lq [ 3
’\—VERTICAL TRACK CREW #1 ()
. EACH HINGES BOTH SIDE
< ' i I
——-I s 1 67
H = J

INSTALL BOTTOM PANEL IN OPEN SPACE WITH A ROLLER INSERTED ON TRACK.
ADJUST THE PANEL TO LEVEL.

O

ramen (S -

LEVEL

=

TOP VIEW

" SHIM TO LEVEL 7

INSTALL SECOND VERTICAL TRACK BY PIVOTING INTO ROLLERS ALREADY
FIXED TO PANELS.

| 1/4" GAP AT TOP OF _ |
VERTICAL TRACK

VERTICAL TRACK

=0

TOP VIEW

DAR D] AFTER HORIZONTAL TRACK'S INSTALLATION, INSERT ROLLERS

INSTALL HORIZONTALL TRACK ON THE VERTICAL AS SHOWN BELOW.
FASTEN BOTH ENDS OF HORIZONTAL TRACK TO THE STEEL ANGLE FIXED

TO THE CEILING OR TO THE WALL.

(2) BOLT#2
BOLT #7
NUT #0

NOT INCLUDED

IN TOP BRACKETS AND FASTEN THEM TO THE DOOR.

PUSH THE BRACKET DOWN AGAINST
DOOR AND FASTEN IN PLACE

.,..12°(100
1/8" M —gTopg
— } ROLLER
(4) BOLT#7  \ |
(4) NUT $10 1 —
(2) BOLT #5
BRACKET
K1 (2) NUT #6 L E
LOW HEAD] |
2
K2 ROOM
(2) BOLT #2

BOLT #7
(2) WASHER #9
NUT #10

N\

127 A
O F;

Eiel

—D—L—fl
(4) BOLT #7

(4) NUT 10
(2) BOLT #5

(2) NUT g6

NOT INCLUDED

APPLY A PRESSURE
AGAINST THE PANEL
AND THE BOTTOM
OF THE TRACK

/ LOW HEAD ROOM
TOP BRACKET

Cedomatec Inc.

24/04/2002 SL Page3.dwg

CEDOMATEG CEDOMATEG CEDOMATEG

CEDOMATEC



GCEDOMATEG

GEDOMATEG

CEDOMATEC

INSTALLATION SHEET FOR EXTENSION SYSTEM

_ CEDOMATEC

FASTEN SHEAVES AND HOOKS TO THE TRACKS.

LW _HEAD ROOM (2) NUT #10

THREADED HOOK #16

2
- HTH

STANDARD

(2) NUT ﬁo
THREADED HOOK #16

_ 4 (100rnrn) : ¥
‘ . -
— .
SHEAVE 3" SHEAVE 3"
BOLT #13 BOLT #13

i

NOTE: THE 3" SHEAVES ARE STANDARD. FOR [2'-I* WIDE DOOR AND MORE,USE 4" SHEAVES.

Fy
STANDARD
"S" HOOK NUT#15 £BOLT #3 SPRING
n7
F \ CABLE
L- CABLE
W HOLES PLATE
| ADJUST AND SECURE THE CABLE
LOv 'S’ NUT#15 BOLT #13 SPRING
HEAD HOOK
DOOR . M ; Ei
® { fF—*
> \ CABLE
mﬂ% CABLE
3 HOLES PLATE
ADJUST AND SECURE THE CABLE
INSERT CABLE THROUGH SHEAVE AND THREE-HOLES PLATE AS SHOWN, THEN USE THE "S" TO HOOK
UP TO THE TRACK. STANDARD LOW_HEAD ROOM
SPRING
KEEP CABLE TIGHTEN SPRING KEEP CABLE TIGHTEN _2__ %l
pii® i {
om

THE DOOR MUST NOT OPEN OR CLOSE BY ITSELF. TO COUNTERBALANCE, EXTEND OR RELEASE
THE SPRINGS.

PASS THE SECURITY CABLE INSIDE THE SPRING. HANG 1 END ON THE HOOK AND SECURE THE OTHER END IN
THE 3 HOLES BRACKET
LDW_HEAD ROOM
STANDARD HOOK HOOK
- SECURITY CABLE -
=S I S %“ 3 HOLES BRACKET &j
3 HOLES BRACKET— T
% ool |
/ y
SPRING
SPRING

Cedomatec Inc. 24/04/2002 SL Page4.dwg

CEDOMATEC CEDOMATEC

CEDOMATEC

CEDOMATEG



CEDOMATEG

CEDOMATEC

CEDOMATEC

GCEDOMATEC

INSTALLATION SHEET FOR TORSION SYSTEM
PLEASE NOTE THAT THE 2 SPRINGS TORSION ILLUSTRATION IS USE FOR
GENERAL EXPLANATION, BUT IT IS POSSIBLE TO HAVE A 1 SPRING
TORSION DEPENDING OF THE DOOR SIZE.
Uﬁgﬁg& STANDAR?ENT'I;ERSIDN
A
END ;%?TIO:A%R'NG BRARKET TORSION SPRING DRUM
?ﬁg)‘; _ LEFT HAND WOUND (BLACK)
TUBING OR SOLID SHAFT MIDDLE OF SHAFT UNIVERSAL
"(25.4mm ' STATIONARY
EenD b DOOR WOTH) 500R'S DIMENSION END O Bl
TORSION SPRING TORSION SPRING SRS
" il J, O \mumimm
oAl TORSION LOW HEADROOM DRUM
_ (
(BLCK) 4] o b
o T
ROTATION DRUM WALL OR CEILLING ROTATION ?gé,ou)
WALL OR CEILLING WHEN OPENING | #3 (BLACK) INSTALATION WHEN OPENING
INSTALATION P USE (2 SCREW
USE #2 SCREW FOR A BETTER ALIGNMENT
USE SPACER BEHING USE SPACER BEHING
IF NEEDED IF NEEDED
DRUM
(RED)
>
ASSEMBLE WITH 2 BOLTS #7 “”
4 WASHERS #9
AND 2 NUTS §10 a
BOLT #7 AND NUT #10 OTHER SIDE
WeE-cre > N DRUNS TOROTATE DRUMS | 1—WIND SPRING AS SHOWN
STOP THE SHAFT GROOVE
FROM JURNNG T SOUARE ;-\ 2-LOCK SPRING WITH
HEAD SCREWS SQUARE HEAD SCREWS
3-AT THE END OF WINDING
PROCEDURE, REMOVE
THE VISE-GRIP
o // ]
SWT.S.‘P %‘%g'rwg_mm
FROM TURNI P WINDING
s cpoues r’ 3 DIRECTION
|l = = =
u| % = il

Cedomatec Inc. 24/04/2002 SL PageS.dwg

CEDOMATEG CEDOMATEG

CEDOMATEG

CEDOMATEG



GCEDOMATEG CEDOMATEG

GCEDOMATEG

_ CEDOMATEC

INSTALL WEATHERSTRIPPING ALONG THE FRAME

WEATHERSTRIPPING
DOOR PANEL

COVER

SCREW #4
EVERY 6" il

RETAINER

OUTSIDE OF
PANEL
B / QUTSIDE OF
ANEL
ol

B
T

"':é’ggﬁld

P.V.C. WINDOW
FRAME

APPLY SILICON
SEALER

EXHAUST TRAP

P.V.C. CAP INSTALLATION

*
DOOR OPERATOR
INSTALLATION

OPERATOR TRACK
AND DRIVE

ATTACHMENT

PRE-DRILLED
ATTACHMENT

TOP PANEL

PANEL CENTER

P.V.C. CAP

—

J”/

APPLY CONTACT GLUE
ON THE END OF PANEL
AND INSIDE THE CAP

N\

SPECIAL SECTION
6" x 6" WOOD

OR STEEL PLATE
ON REQUEST

ONLY

Note: This panel will be identify at the end

The side lock should be adjusted with
top of the track’s slot and should be
fixed ¥ from panel side.

Cedomatec Inc.

24/04/2002 SL Pageb6.dwg

CEDOMATEG CEDOMATEG

CEDOMATEG

CEDOMATEG



GEDOMATEG

GCEDOMATEG

CEDOMATEC

CEDOMATEC

HARDWARE

| TEM # DESCRIPTION
9 1 LAG SCREW #I4 X | |/4" HEX. HEAD 3/8
o) O LAG SCREW 5/16" X | /2" HEX.HEAD 3/8"
| 9 3 - SELF TAPPING SCREW I/4 X 3/4" HEX. HEAD 3/8"
4 WEATHERSTRIPPING WOOD SCREW #8 X |" ROBERTSON #2
0))=) 5 FLAT RIB NECK BOLT I/4 X 3/4"
©D) G HEXAGONAL NUT 1/4-20NC
(Dmmp 7/  MACHINE BOLT 5/16 - I8NC X I"
QW@ 3 CARRIAGE BOLT 5/16-18NC x 3/4°
S FLAT WASHER @5/16"
@35 10 HEXAGONAL NUT 5/16-I8NC
D) 11 CLEvIS PIN 5/16" x | 1/8"
e== ] CUTTERPIN 3/32" X I"
@m 173 MACHINE BOLT 3/8-16NC x | I/2". HEX. HEAD 9/16
@:mm 14 MACHINE BoLT 3/8-I6NC X 2 3/4". HEX. HEAD 9/16"
’ 15  HEXAGONAL NUT 3/8"-I6NC, 9/16" WRENCH
7~
' HREADED HOOK 5/16- X y
(o 16 7 5/16-18NC X 3 1/2
@ 17 "S" Hook @5/16" X 2 |/4"

CEDOMATEC INC. 605 IBERVILLE,REPENTIGNY (QUEBEC) J6A 5H9 CANADA
TEL:(L50) 585-4224 * |-800-363-CEDO (2336) * FAX SERV.:(450) 585-1166
WEB SITE: www.cedomatec.com

E-MAIL: info@cedomatec.com

Cedomatec Inc.

24/04/2002

SL

Page7.dwg

CEDOMATEG GEDOMATEG

CEDOMATEG

CEDOMATEG



